o
[N

) F
8
~0.15F
S o
o 0.1k
\" r

0.05F

..........

.............

.............................

I It |

|
W[

—_—

-1 0

1

2 3

TP n (PCA to beamline)

Fit-DQM_ori

o
[N

< d cot(B) >
o
[
[6)]

o
N

.............

.............

.......

.......

..................

..................

Ratio
L

B

-1

0

1 2 3

TP n (PCA to beamline)

[—=— DQM_TT__mKFI-DQM_original

—_— /dataz/leglann|/standa|6ne May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated}{0
TT__mk glnal newwindows

— DQM _TT_mKkFit-DOM_update-mod127

...........

...........

...........

...............

...............

...............

.......

.......

.......

...........

...........

...........

b - - -

1

2

<op/p.> (%)
O = N W N O

........

........

..........

..........

..........

T 0

1

2

3

TP n (PCA to beamline)

glOC:
= 80

.........

.........

.........

..........

..........

..........

.........

...............

0

1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


